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Question Number : 1 Question Id : 8643511621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to
receive the signals in line of sight ?

(Assume radius of earth is 6400 km)
Options :

8643514861, /0-1 m

8643514862, 000 ™

8643514863, 1002 m

8643514864, 10-77 M

Question Number : 1 Question Id : 8643511621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@6N2] M@om sSUO)Eld B0allafldlenim msnz) cumom EDFIMEUD 45 km @odhel@roiad
QUall. &Hovalenaldld (Line of sight) a8 milineljstd mufladlendad aoflaalen]
@DABMQIOS IO H@Mo aRMOENE ag)Modleaio ?
(Bdlwies @mo 6400 km)

Options :

8643514861, /21 m

8643514862, 0000 M

8643514863, 1002 m

8643514864, 10-77 m

Question Number : 2 Question Id : 8643511622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? {mp= 1.00727u m_ = 0.00055u)



Options :
8643514865, 43 :1

8643514866, 1860 : 1

8643514867, 4141

(1860)2 : 1
8643514868

Question Number : 2 Question Id : 8643511622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
60} RIHESIETIOMWIo GlnldegoemlamMmio HB3-EENIT MmooaneRbhralio @ERLOHW B0}
100 V ealoegiayieflees ®joemo ealglallénid iyl dmenzjallslal). o

®RWOHNBDHILLTBRINS @M IdBo af®oeNs ag)modidlenio ?

(m,,=1.00727u m,=0.00055u)
Options :
8643514865, 4311

8643514866, 1860 : 1

8643514867, 4141

s
8643514868. Lo B

Question Number : 3 Question Id : 8643511623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R) and R, respectively.

Options :

8643514869, 2eT0

8643514870, 1



8643514871, nfinite

R R,

Ry~ Ry
8643514872,

Question Number : 3 Question Id : 8643511623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} semadelowd eaidmilen @audomle auialle 1.4 epem. em @oaloldosio
miallé 988 60} mownodld v ealimdamiom alaloymodd eeimmien tanoded mlgo

af)Mmodldlenio ? eamdmilen mieusmBaIes Qlldlde oo @LNddkmo Ry, R, @oeemary

B O) ).
Options :

a0
8643514869,
8643514870, 1
8643514871, ©RMOTO

Ry R,

R1 —Ry
8643514872.

Question Number : 4 Question Id : 8643511624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Red light differs from blue light as they have :
Options :

8643514873 Same frequencies and same wavelengths

8643514874, Different frequencies and different wavelengths

Same frequencies and different wavelengths
8643514875.



Different frequencies and same wavelengths
8643514876.

Question Number : 4 Question Id : 8643511624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
21301 (aldhodo Ml (alaoceanmiiad adlom alymymieao el deainmy, agenmmmodh @palaies)
Options :

8643514873, BC0 ERALOTHD0 BEO MW HOADRLANMOE.

@\ @DouU\mTlie U@ mim mooteeEtas\cLImoem.
8643514874, SR . do Q)@Y 9l

s643514875, BE0 ERALYOT @0 AY@MI® ®RoMOOBDLYIIET.

a@m\mim AmE@io S MOoeBdaeN L moeT.
8643514876. ‘5 ‘5 Py 8 QE‘B 3

Question Number : 5 Question Id : 8643511625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.—.'r PN
The magnetic field in a region is given by B =B, i}k. A square loop of side d is placed
\a J :

— M

with its edges alnng the x and 1 axes. The Inop is moved with a constant velocit}-' 0 =0qi.

The emf induced in the loop is :

Y

A

Options :
B,v,d

o0

8643514877,  2a



8643514878. a

8643514879, 24

8643514880.

Question Number : 5 Question Id : 8643511625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i

80} [lCBNOEM HoNTild MeMLElo B - B, {i]i ag)rilemam madelaidlenim). an)
.a
maaimie eljal (Uwee d) @dlon altee x-Eroes@wialje y-@eds@siele aleim doflwldd

e

lafldleniom]. 0D ejallom m@Om eUN® v =7, i @ alefllaflanimy. eljo(lad

muooaflm@mow emf @menm :

y
A
Oz
d
d
» X
Options :
BD Vg d
8643514877,  2a
' 2
B,v,d
8643514878, a
: 2
B,v,d

8643514879, 24



B, 7, d2

8643514880, 28

Question Number : 6 Question Id : 8643511626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=500g, Decay constant=20 g/s then how much time is required for the
amplitude of the system to drop to half of its initial value ?

(In 2=0.693)

Options :

8643514881, S+05 S

8643514882, 1°-01's

8643514883, 034 s

8643514884, 1102 S

Question Number : 6 Question Id : 8643511626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
60} M8 an0dEmOeTld: oMo MSEMINM 6o} momy -tilallotd moallwomeniion epwai
Ma@@TImMmVdl el @&)0@iMm). @omi=500g, euadaysm qudleomo=20 g/s, @M M,
mocflwomarnilan epea] @ealan lotce allaiwies aldol el &owWaw ag®
MOo @DOUCRYMmOET) ?
( In2=0.693)

Options :

8643514881, 23658

8643514882, 10-01 s

0.034 s
8643514883.

8643514884, 1192 S



Question Number : 7 Question Id : 8643511627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01 x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal
(k=138 x10~% JK 1)

Options :

i
8643514885, 02 M

58 nm
8643514886.

8643514887, S0 nm

102 nm
8643514888.

Question Number : 7 Question Id : 8643511627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@oalmiel 27°C eljo md3o 1.01x10° Pa eljo £88 S0KIRMD GMIMBRINS LDOONE] TVI® (T
alo® (A) @i6s allel &emeEnidhiSid. MMO® Aljomo 0.3 nm @YOEMMo UM dho
epaduilwlo e dajmid. (k=1.38x10"2 JK 1)

Options :

i
8643514885, 02 M

58 nm
8643514886.

8643514887, 50 nm

102 nm
8643514888.

Question Number : 8 Question Id : 8643511628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L /min to 0.48 L/ min ? The radius of the tap and viscosity of water are 0.5 cm and
10~ 3 Pa s, respectively.

(Density of water : 10° kg/m?)

Options :
8643514889, teady flow to unsteady flow

8643514800, Unsteady to steady flow

Remains steady flow
8643514891. e

8643514892. Remains turbulent flow

Question Number : 8 Question Id : 8643511628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0.18 L/ min @ adlomyo 0.48 L/ min celes) a9 iasilond dless cudallaflajomd ar) aljemosoe
soafl@d aflmje &9 s eaussewflen mjedalo aMmodidlesio ? soalloq @amo 0.5 cm
8o enugamilen almiesomilgl 1073 Pa s -9o @em.
(ecuga@dilen oo : 10° kg/m?)

Options :

2643514889, Tudlo@@odmalldd ailrmy @erudionow e issiealds)

@ocrudlomalad oflom) cudlem@odom ey bsilealds)
8643514890.

cudlom@odom ewles olamild@miom)
8643514891.

0643514800, sbenijeltl evee) dlaaidemimmy,

Question Number : 9 Question Id : 8643511629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A charge Q is moving L_ﬁ distance in the magnetic field l_:‘: . Find the value of work done by

=
B.
Options :

8643514893, 1

8643514804, ZCT0

8643514895, [niinite

8643514896.

Question Number : 9 Question Id : 8643511629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B 000l pemueled, alode Q, di Bjoo alellaanim). B oo0m (Al y @5
62 lIS]86) )b

Options :

8643514893, 1

8643514894, 45O

8643514895, oM Mo

8643514896.

Question Number : 10 Question Id : 8643511630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643514897.



40 minutes
8643514898.

8643514899, 00 minutes

13 minutes
8643514900.

Question Number : 10 Question Id : 8643511630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} alsodmoodlen adwowim 20 dailg eeeemalad, 33% ewwoauem@mimie 67%
CURaHEM@TIM)o nseilelgs mawo &henzlnllSles)d.

Options :

20 dlarflgescd
8643514897.

8643514898, 20 dlfigiencd

8643514899. 60 di nﬂﬂ‘!‘&@

8643514900. i ﬁ‘!‘&@

Question Number : 11 Question Id : 8643511631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given circuit, comment on the type of transformer used.

oH i 011A
L.
FllE Yeow
220V H I
Options :
8643514901. Step - up transformer

8643514902. Step down transformer



Auto transformer
8643514903.

2643514904, (\uxilliary transformer

Question Number : 11 Question Id : 8643511631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@mldlesnimmom muddesSlad Oalewoudl afldleaimm sommicganddadlem & )Glal @dllowe

AlOW]db.

i i 0.11A

W

L
] |[s] Ol 60 W
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|

Options :

oEal-@val (SoMbmicanond
8643514901

ea -6 (SoMmiGanomd
8643514902.

£0650 (SoMdmieanomd
8643514903.

soamilaid] [sommicanomd
8643514904.

Question Number : 12 Question Id : 8643511632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life of Au'® is 2.7 days. The activity of 1.50 mg of Au'" if its atomic weight is
198 g mol ! is, (N, =6 x10%/mol).

Options :

8643514905, 240 ¢

8643514906, 227 1



8643514907, 222 Ci

8643514908, 200 Ci

Question Number : 12 Question Id : 8643511632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aul® e @epdwowymy 2.7 dlaumemgoem. Aul®® o@ @oegodls @ovo 198 g mol !

@pesm#lad @rallang 1.50 mg msemM (aluudemme @end, (N, =6x10%/mol)

Options :
8643514905, 220 Ci

8643514906, -2/ 1

8643514907, 222 Ci

8643514908, 200 ¢t

Question Number : 13 Question Id : 8643511633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A
has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

2643514909, pend towards the right

Bend towards the left
8643514910.

8643514911 Not bend but shrink



8643514912. Neither bend nor shrink

Question Number : 13 Question Id : 8643511633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} gjeekad Miglafldd cavane A @jo B ®jo 96nE. &oemlofldlanimealonal @oalom
By e ©0allofldlenis @@em. alle:om wiemotho ealdabo A @és) B 6@ @oealdssl gl

dhSIOTD HME. B0} MEME HOISRHSIT Gjealtad miglal alaflaymod @nm).

AlB

Options :

CUEIGEMHE) CUR®Jo
86435149009.

SCHMEE) (LMo
8643514910. D 204

awlgl aleddH allmIstRlo
8643514911. SO SO

C643514912. USW @ EE] 211016781 D2

Question Number : 14 Question Id : 8643511634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms ™ %)
LLLI L)

m

M

—
o

Options :

8643514913, D114 m/s

8643514914, 5214 m/s

8643514915, 5314 m/s

841.4 m/s
8643514916.

Question Number : 14 Question Id : 8643511634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



M=5.99 kg @om0ige 0] 00shg 03] @MOMUIgomm miendd Sale@ouilaf
meelaigldleninmmy. m=10 g momuies 6} eniead 07 asuilealss) ouldaihmlo @
S50l @Ranihio HAIQIM]. (&S +miean) aihalcalss) @RSIM), @OIWIOS VM
80afd @OM elosniajoo h=9.8 cm @D ®O@TI@. @RGIMEMato HSMD mOHMM e
2100 EWl60 @OOICVOM @MED aUmm dluaiaimdalim). engadlan ealmn® eiglagellm)
@5 Mol ag@woeny ?

(8=9.8 ms~2)

GESITERIE

m h

—
[y

Options :

8643514913, D114 m/s

8643514914, 5214 m/s

8643514915, 5314 m/s

8643514916, Cr1-4 m/S

Question Number : 15 Question Id : 8643511635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1: A cyclist is moving on an unbanked road with a speed of 7 kmh ! and
takes a sharp circular turn along a path of radius of 2m without reducing

the speed. The static friction coefficient is 0.2. The cyclist will not slip and
pass the curve. (g=9.8 m/s?%)

Statement II :  If the road is banked at an angle of 45° cyclist can cross the curve of 2Zm
radius with the speed of 18.5 kmh ~! without slipping.

In the light of the above statements, choose the correct answer from the options given below.



Options :

8643514917, Both statement | and statement Il are true

8643514918, Both statement I and statement Il are [alse

8643514919, Statement | is correct and statement 11 is incorrect

2643514920 Statement [ is incorrect and statement 11 is correct

Question Number : 15 Question Id : 8643511635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(mi@mocum 1 : ealdlaligoam e} cnoaleens &n) HOmHewea0nm 7 kmh !
U@ 21elle6)emIoid GUM® &hOWENIOm METN @Ddo 2 m
88 CUJTMIHI0OTIM Has 6o} &jdem cugal aldlaimm). guoFke
agidadem wiemomho 0.2 @M. eV amnmileatonem aigal
auga®jo. (g=9.8 m/s?)

(i@acum 11 : coonw’ 45° eoemanildd e.aldlaflgeeneeldd oem@sildaonm 2 m
epomes auaal 18.5 kmh ! ccunmald s@mos®m o

H¥lw]o.

D)alad  ehos Erldlenim (mimomeales enuslajamila, moey maridlenimnala
oo’ redlwo eEmoo @lEEeTMS 186 1.

Options :

al@ocum 1 almimocum 1l Ho vadlwosn.

8643514917. . 2 L &9

admomacum 1 admomocum 11 EIDQOEITY.
8643514918, ¢ R 2 e

ldaiamocum 1 tadl@oem, (admimocum 11 emgoem
86435149109.

ldmimocum 1 &mQoem, (admimonum 11 vodlwoem
8643514920.

Question Number : 16 Question Id : 8643511636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

— M Fat M
A mosquito is moving with a velocity » =05t + 3tj + 9k m/s and accelerating in

uniform conditions. What will be the direction of msquitn after 257

Options :

_]( 51 ——
tan = | from x-axis
8643514921 \2)

-1 ( 5) ;
tan =~ | from y-axis
8643514922, \2)

2
tan I(;W from x-axis
8643514923. e

2
tan I(;] from y-axis
8643514924. A

Question Number : 16 Question Id : 8643511636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.""\

—% ey A
B0} OBIM (ICUWo v =05t%i + 3tj + 9k m/s @ 21elen)db®io afdh®mIMDIW

e MO @)oeMmo §.o1Qid®ic HoIQIM]. 2 s M oo O®HIM&IOM &l

ag)moaiiclesio ?

Options :

x @edElad aflomo tan_]{gw
8643514921. /l

Y (@10 S %) D nﬂrmg,otan‘l(?
8643514922, L

x @eHUEEIa mlomyo tan ]f%]

8643514923.

| 2
y @pHHEmI@ oflon)otan I(i]
8643514924. ‘“



Question Number : 17 Question Id : 8643511637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 c¢m).
What will be the fractional error in the value of Young's Modulus determined by this
experiment ?
Options :
8643514925. T

o
8643514926. e

o
8643514927. At

-
8643514928,

Question Number : 17 Question Id : 8643511637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0.2 cm @@ocdle (eflgy &0end=0.001 cm 88 e Halewordla] @ama)) Im allanllo
(ellgy #oeng'=1 mm 988 MiEhEd Halewowdla) @amal) 1 kg momjo(ellmy smvend =1 g
988 MEHM Halewiuilal @RamM®@) paa 8] dmilwies wesm ecmoav)elmy
dhenzjaISlenomonll @ ssllaliseqajodd 0.5 cm aleflal genzow (eflmy #vene 0.001 cm 988
MG b6 @amMmel). eEm) eacavjelmilad 988 @rowd emg ag)am?

Options :

o
8643514925. L

o,
8643514926. e

o
8643514927. e

-
8643514928, 0



Question Number : 18 Question Id : 8643511638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643514929. e

8643514930. e

8643514931. 1500 ]

8643514932. 0.3

Question Number : 18 Question Id : 8643511638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} (ldflerowanilaes 20s emoo 1.5 A H000 eselaligoad 500 ] moealodo lalallenowo
BenEodlo HOM 1.5 AGh ailmio 3 A @pesileoad 20 s emaaniiad ©ensocUi™ ©DdRo ag)®
eodlesio ?

Options :

8643514929. 0

8643514930. e

8643514931. 1500 ]

8643514932. 0.

Question Number : 19 Question Id : 8643511639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in

the region of uniform line charge of 8 nC/m lying along the z-axis in free space.



Options :
47.88 C/m
8643514933.

7 =2
8643514934, 0-07 nC m

A7 B 2
8643514935, 0424 nC m

40nCm 2
8643514936.

Question Number : 19 Question Id : 8643511639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x=3 m agym eflo3)jall@d z-EosHu@miees 6] apdmom eoafllw alodeg 8§ nC/m
DERMIOBIMNEER Mdanm) 21002 MIMB® Hen3iallSlde jdb.

Options :

C/m

8643514933,

e
8643514934, 0-07 nC m

A7, 1 2
8643514935, 0124 nC m

40nCm 2
8643514936.

Question Number : 20 Question Id : 8643511640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The fnllnwf_t'ng Iogic gate is equivalent to -

D

—D>
B,

Options :



8643514937, AND Gate

8643514938, TVAND Gate

8643514939, OR Gate

8643514940, \OR Gate

Question Number : 20 Question Id : 8643511640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®oeYWISs el e agnilmy quamoem’ ?

A—jo_
)oi}_v
—

B ——

Options :

AND ewng
8643514937.

NAND ewg
8643514938.

OR g
8643514939.

NOR ewng
8643514940.

Physics Section B

Section Id : 864351110
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 864351110
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643511641 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If one wants to remove all the mass of the earth to infinity in order to break it up completely.

PR
The amount of energy that needs to be supplied will be lj ﬁ where x is
5

(Round off to the Nearest Integer)
(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511641 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

sy cialaloel aggo momle @mmMm@maiicalss mogl §s.alishawemenslad @omlm]

. x GM?
@DUWNI® ©VDRMOEM T

ST R @DEM.  (HMIFS O

aljdemmooslj@iiealss) mogid)

(M -eual@es momy, R -gidlees @ano, G -@)njojmPod:dausm mudloom:o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511642 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511642 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6r) rimaenonn Relemlad 12 km/h caumnomada alanom moulleaio. mElIa awidninm
gelowilm 6 km/h eolmm@ens. @o@ades @om dladeninm cquoelieiim) afludimaowi
&6 dh)016ed Ml a0 jewlEh @emauorIEn) ag)@rtieajosmensld @@ow oilenmens
Sloo °. (e®mogs)em aljbemmuoslieiicalss) mogide)

(em0emand alliilaflad @oemilenis.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Question Number : 23 Question Id : 8643511643 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 2 kg moves under a force of (2 i +3 ; | Sk' N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643511643 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 kg @0V £88 &) (Umim) [2? | 3; -5k N ag)m entelmmimom alellean)ym). @oe

mlcaeoaumoala adlgold epaioim) @@acje. 4 s M) Gado @RWIOM
Gh0-a0dlempiadd (8, b, 20) @@em. b wes alfle @REM. (HMIFSIHM
aldemmoslj@iiealds) mopid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511644 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- A A A
Aforce F =4i + 3j + 4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511644 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



x=2 (®eQije r-@EMAlo dhlSlOISION SO F =4i +3j +4k enelo

lale@oudlafdenim). endlas) (2, 3,4) My aniaes v snuelemilan esodeslan aldlmoemo
@6 . (0@035)0® aljbem moa@ileelss mogid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511645 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solid disc of radius ‘a” and mass ‘'m’ rolls down without slipping on an inclined plane

2
making an angle 0§ with the horizontal. The acceleration of the disc will be b8 sinf where

b is . (Round off to the Nearest Integer)
(g=acceleration due to gravity

B =angle as shown in figure)

P

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511645 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



@levallnaaowl] 6 ©enEoen)M B0} 6Bl (ImaIETees ‘m’ Mo ‘a’ @DEOLMISS
2
680} U0 Ulmnid HmMIN®m HreNEIosmBIM). allmiesdian @iremo b g sinf @pafldead®es,

oafles b@yes allel __ @pem. (em05S0m aljdemmoalwlealss mogid)
(g=.lni0jmlo MEIDER ®|deMo

0= aflmemldd soemlafldenim esmoemant)

I3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511646 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%

efficiency the temperature of the sink should be °C. (Round off to the Nearest
Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511646 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



80} Eedre Mmoo eimqiled ®oaldlal 27°C @R@IG 60% &I0)EHHO®
6B UT#jo. Mosneml@iOs Moalmlal epeldlenemo °C. (emogs)mm
al @ auos\@ilealds mogidh)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511647 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a parallel plate capacitor set up, the plate area of capacitor is 2 m? and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be £,
(Dielectric constant of the material=3.2) (Round off to the Nearest Integer)

d

Y

\.\\Jk

S

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 27 Question Id : 8643511647 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

630} aloneldd egld Hajomiigdlad eglq allminfidemo 2 m? po egRiMHtd ®adleyas @kelo
1 m o @pem (ali@o &oemids). eglRidtdesisaiags mneo 0.5 m Hglaflad 6o} Haw
EDEIHIS]E: QMImaoens Moo jo@ o jomiigdied daljomiigamy epwidenio

£, (Umimiallen eew geald(Sle: qudleomo=3.2) (O®mOSSIEMm aljdemn qoaljwiealds)

DOQ:.)

Y

%“‘

S

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511648 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 mJ in 1 s when an electric current of 2 mA flows
through it. The resistance is (). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 28 Question Id : 8643511648 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 mA HOMM Hsawl allgod ey ieflerowoe 1 s eadmoene aljoemialsim godeo 10 m]
@M. lallenowo ERldleo Q. (amogsiEm aljdemmoal@iicelss mogids)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511649 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be ° (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643511649 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(061D, 40l (oI cudemmoacii@mmoss pensossiiw allmadldd memm eleemaniim]
2° ayyellwomo eenzowil. (06, odlad omiem nllmedllan allmigaldmilal alaio)ed
0.02, 0.03 ag)rilemeam @R®jo D POTVHEINS menm euglolomen @oalcudomm
mjallddid 1.5, 1.6 @D®@jo af)SjemoEd, (@06, oIl (QOMIHEINS @oalcudomiom
Bhoeman @ dlH0jo. (@SSO aljdemmuosl|wicelds) moRidy)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511650 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,

respectively. The compressibility of gases are equal in both the pipes. Both the pipes are

ibrating in their first t it] f r. The length of t} "ELE
vipra Il"lg m e1r 1irst Oovertone wiln same I'E'_‘qUEI‘lC}-. e E'_‘I‘lg 10O e DpEI‘l p]’.pi'_‘ 15 .—_} ‘\I]IPZ

where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511650 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B0] @osen 6000 aealaflmy dgo L 9o miomm ssdndd eenlalldd mos®m wiod(@no
Py, P2 AGMTILWIBE QOMEHEBRIC HENE. AUIMHEIERIAS dbMdvenieldl eens] enalajelo
BMO6M. M6NS] Heala|lo @AIWINS Moo BAUdEsIeNIG Ben EpMTwIt aanalesIg

| B
O21gyMy. ®omMm eeaclaflom mlgoe %L"j% @pemy. alles x __ @pem.

(O®ISSIEM alldemmos|@Icelss) MmOQid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Chemistry Section A

Section Id : 864351111
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351111
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643511651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement regarding the structure of Cg is :
Options :

8643514951, 1t contains 12 six-membered rings and 24 five-membered rings.

The six-membered rings are fused to both six and five-membered rings.
8643514952,

2643514953, 1he five-membered rings are fused only to six-membered rings.

2643514954, Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceo @I6S c2ISM@]@OW] MIMWeR]S HBRIV ([ IMIBOCUIM af@ ?
Options :

2643514951, @@ 12 @0 dlele, 24 @reIcw CleBjo HEMS.

8643514952.
@00 Cler)dhtd, @remiod dlezjaowio @OCW GlerimIwie Mocwozlallaflgiens.

8643514053, ORI dlejatd, @O dlesmod] moen mocwoglallaflgias



2643514954, BOCM0 dp0deIET @BRALC Bl im0 eenioaEdEtd @i le:dlenynmyens.

Question Number : 32 Question Id : 8643511652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statements below regarding colloidal solutions is :

Options :
8643514955, 4 colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal particles.

8643514956.

The flocculating power of AI’* is more than that of Na*.
8643514957.

An ordinary filter paper can stop the flow of colloidal particles.
8643514958. 3

Question Number : 32 Question Id : 8643511652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0&2e80WL@ elo@riwmel MminLee]s HBRIW (IMI@ICUM aR® ?
Options :

8643514955, 80) OHIC8OWE RO rs&a@rsmg‘lm' WEMETRUD HH06rTIlee) oM.

8643514956.
80) OHIC8IWAT RI0WOT], HEHICsIVWE HeMemalns (enlveml@m aleiMo

06160,

AP* &) Gooodecelndid alcud Na temamlemasnotd disimeloe.
8643514957, B Gggosey B $54

8643514958.
B80) MoWorem adl@gd Gale]dlm, HIERIW@ HEMEBRINS &P HlOm

MSWIMICU Jo.

Question Number : 33 Question Id : 8643511653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83

are :
Options :
8643514959 X, Y and Z are metals.
2643514960, X and Z are non-metals and Y is a metalloid.
8643514961. X is a metalloid, Y is a non-metal and 7 is a metal.
X and Y are metalloids and Z is a metal.
8643514962.

Question Number : 33 Question Id : 8643511653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
mmrsgmﬁloaa mfmo&.ﬁao% WLOdghmo 33, 53, 83 @RW)E8 MM MJRlHemmac® X, Y, Z e001w)es
mucdleopam 0D -

Options :

X ¥ 7 ilcd emQeE:aIem (GRINaNETRaIeM

8643514959. ) BeiHS % goem)

8643514960.
X, Z agomilal @reenaneBalo (@moem ampeldalo) Y 80) alteloannjmoem

(e@peen W)

8643514961 X 80) &alGan0jo Y 680} @RERIDaNMe £ 60) GRIDaOOMIeM.

X, Y 800U ©al@enanljo Z 60} GRI0aNMmOem.
8643514962. Zonl : " 2

Question Number : 34 Question Id : 8643511654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

Fe:,_‘{:'3 — Fe
8643514963. ;



8643514964, £NO — Zn

Cu,0 — Cu
8643514965. &

ALO, — Al
8643514966.

Question Number : 34 Question Id : 8643511654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@O OIS}, Cdhods Hale@otilal MSEHOIMOICUIETD ClOHHMD (ol (&l @
(erflemodsmildsnem (alldl@) afy® ?

Options :

8643514963, | o208 T Te

8643514964, £NO — Zn

8643514965, 120 — Cu

ALO, — Al
8643514966. )

Question Number : 35 Question Id : 8643511655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statements about H,0, are :

(A) wused in the treatment of effluents.

(B) used as both oxidising and reducing agents.

(C) the two hydroxyl groups lie in the same plane.

(D) miscible with water.

Choose the correct answer from the options given below :
Options :
8643514967, (2 (B) and (D) only

8643514968, (P (C) and (D) only



8643514969 () (€) and (D) only

8643514970, L RARL Ry mc (5)

Question Number : 35 Question Id : 8643511655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,0, allom«#e)dloligs dlwow plmimonm ape ?
(A) moellmy momidmemmsiimiale@oudleninmy.
(B) eoamilaodloowio mlenodsmilaodloomwio alewouilenim).
(C) @2 eeaoe(WIsHMla ((jalidbale eer malalad qudiele.algumny
(D) zeiewildd aialanim),
moey mmildenmaidla mlmlo tdlwi eEmno @IOOETIMSIHE )

Options :
8643514967, (A)r (B), (D) agiias moimo

wes3514065, (B (O (D) agaias aowo

2643514960 A (O (D) agrrilal @omo

8643514970, &) (B); (©), (D) agila

Question Number : 36 Question Id : 8643511656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the elements X and Y using the ionisation energy values given below :

lonization energy (k|/mol)

15t ond
X 495 4563
X 731 1450

Options :



8643514971, <~ Na; Y=Mg

X=Mg ;Y=Na
8643514972.

8643514973, < F; Y=Mg

8643514974, ~~ Mg Y=F

Question Number : 36 Question Id : 8643511656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®0OY  edISiOTIAlenim  @eWonaememaHd®  ovdzmewlen  alleldsg
Oalewoilalindoee X , Y ag)mil melssmees @ldlolclo .
@REW I M BTV aH D §Id2E0 (kJ/mol)

@YE) @OOWIEHEMENVaHMD HIDRRo MENEI0 WRHWINEEMBAVANM HIDR&O

X 495 e
X 731 1450
Options :

X ag)im@’ Na ; Y agrme Mg @ s
8643514971, 9 g el g @jo @Y
2643514972, X GM® Mg ;Y ag)0n® Na ®@jo @em
0643514973, X 2@ F ;Y agimae Mg @jo @pen
8643514974, < QM® Mg Y am® F @jo @em

Question Number : 37 Question Id : 8643511657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The exact volumes of 1 M NaOH solution required to neutralise 50 mL of T M I-I3P'D3 splubion
and 100 mL of 2 M 1-1313'{3‘2 solution, respectively, are :
Options :

8643514975, -0 mL and 50 mL



100 mL and 50 mL
8643514976.

8643514977, 100 mL and 200 mL

8643514978, 100 mL and 100 mL

Question Number : 37 Question Id : 8643511657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
50 mL 1 M H,PO, epnodile@®je, 100 mL 2 M H,PO, eo@mlaom)o

mldaflymosnomonicgymo 1 M NaOH elo@mil@es &)@now Udali@oe @LOD(dhdo.

Options :

8643514975, 20 mL and 50 mL

100 mL and 50 mL
8643514976.

8643514977, 100 mL and 200 mL

8643514978, 100 mL and 100 mL

Question Number : 38 Question Id : 8643511658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following metal complex/compounds in the increasing order of spin only
magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=>58, Gd=64 and Eu=63.))
(a) (NH,),[Ce(NO,)] (b) Gd(NO,), and (c) Eu(NO,),
Answer is :
Options :
8643514979, @) < 0) < (©)

8643514980, ) <(© < ®)



se43514081, () <@ <(©

8643514082, (©) < @) < (®)

Question Number : 38 Question Id : 8643511658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®OOY 61 ISEWAlHHMM BN ODRE Bdhlog]dh TViB:E10/HDRED MW &M ETBR )0
£6anmMiallid Gdhoog|dhrldhaoaemmm @emi@moma@d@ @paa®@ miaild eosrell mournglke
@GO EDERaNEM (HAGHI@ (@BAlHTlenids. (@RERoalke: qoaly Ce=58, Gd=64,
Eu =63.)
() (NH,),[Ce(NO,)y] (b)) GANOs),  (c) Eu(NOy),
9 ®Mm o
Options :
< ()

8643514979, @) < (b)

s643514980, @D <@ <)

8643514981, () <@ <(©)

8643514982, (©) < @) < (©®)

Question Number : 39 Question Id : 8643511659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fex, and Fey, are known when x and y are :

Options :

2643514983, X=F, Cl, Br, Tand y=F, Cl, Br, I

8643514984, Y=, Cl Br, Land y=F, Cl, Br

g643514985. ¥=F, Cl, Brand y=F, Cl, Br, 1

8643514986, & Cl, Br, I and y=F, C], Br, 1



Question Number : 39 Question Id : 8643511659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fex,, Fey; 00 ©alo®)aiod] @odl@eq|sim Mo@]smesmBaoaimme x , i S0 @LOd»hXo
Options :

2643514983, ¥ =F- CL Br, ILagavial, y=F, C, Br, I agymilal

c643514984. = I+ CL Br, Tagarial, y=F, CL, Br agovial

s643514985. Y= €L Br egmilal y=F, Cl, Br, I agimilcl

x=Cl, Br, I agmilcu y=F, Cl, Br, I eg)milcu
8643514986. 9 s 9

Question Number : 40 Question Id : 8643511660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :
8643514987. S

8643514988, (4) and (C) only

8643514989, () (©) and (D) only

2643514990, /2 and (B) only

Question Number : 40 Question Id : 8643511660 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(Aod a0DMS LML [ CLOMEHETR D
(A)  @odenlend 0L Bodmeama
(B) s0amilead

(C) uogd ealad (mleoall)

(D) diewiod cuomdbe

®6)¥ eehosiamaU@ allor appale Al SEMe @6 ETTNSIHE)ids.
Options :
(A) mo@mo
8643514987.

8643514988, (&) @jo (C) @0 mO(®o

8643514989, ) ©+ (D) agoilau mo@o

2643514990, () @io (B) @lo @mo(@o

Question Number : 41 Question Id : 8643511661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-II :

List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne's Test (i) Carbon
(b) Cu(ll) oxide (if)  Sulphur
(c) Silver nitrate (iii) N, S5, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically

black precipitate with acetic acid
and lead acetate

The correct match is :

Options :
8643514991, @k(1), (b)-(i1), (c)-(tv), (d)-(iii)



8643514992, (@)-(1i), (b)~(1), (c)-(iv), (d)-(ii)
8643514993, (@)-(ii), (b)-(1), (c)-(ii), (d)-(iv)

2643514994, (@)1, (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 41 Question Id : 8643511661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ellqy - L, eflgy - 11 20wl ¢.almjonls] @.alddeid:.

elqy - 1 elqy - 11
asqy/dlewsag /] dlexemo SeemBOI® Miallasflmy
(a) e Osgy (i)  dmoderend
(b)  edo]d(IT) SodeeIU (i) uBand
() miadcud eemesq (ii) N, S, P, anocengad agyoriia

(d) @eemugle @amilable, eal @orueqRImO© (iv)  (dem)dsla] an0ERIOZM)dhid
U @Slaa)emIod oo agylaHddd
Qg)HMIISOhS &HOJMD @0 almo MNEdem).

NAWOW HEMDO BHEETROTD ) :

Options :
8643514991, (@)k(1), (b)-(i1), (c)-(iv), (d)-(iii)

8643514992, (@)-(1i), (b)-(1), (¢)-(iv), (d)-(ii)
8643514993, (@)-(ii), (b)-(1), (¢)-(ii), (d)-(iv)

2643514994, (@)-(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 42 Question Id : 8643511662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statement I :  Sodium hydride can be used as an oxidising agent.
Statement I :  The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :

8643514995 Both statement | and statement 1l are true

8643514996 Both statement 1 and statement 1l are false

Statement 1 is true but statement 11 is false
8643514997.

Statement [ is false but statement 11 is true
8643514998.

Question Number : 42 Question Id : 8643511662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(mimocum 1 : erol@o £8a0ns B0} 60eMilaodlwod] oaleouilanimm).

(umimocum I : afldlaufiries eamszailags caoem alwd elseSoemdhid @palom
GENIMUlds @DHNM). (SHHOOWEMDIBEMOHNM))
MY exhos)omvlenmMmaialad dllom rdloow eemee @l EEETITIS LI jdb.

Options :

SIMOAOHMMWjo MENRIDEBMW]o ([ IMImICUM Codloern.
8643514995.

8643514996 3(MIME) M@0 MENESImetTHI o ([l Rd@oCLIm E}W [ I6TT.

8643514997. SMOasE® |alrimonm Cﬁfﬂ@&n QENSO@MEI T (ITUmMICLM LXBRIMOIEM

8643514998. SMODOED (oI MIMOUM Ao MENBOREDED (A IMIMOCUM O QI MIET).

Question Number : 43 Question Id : 8643511663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The

unsaturated hydrocarbon X is :

Options :
CHy— C=C—-CH,
8643514999.

CH;—( = C—CHy

8643515000. CH; CH;

HC=C—CH,—CH,
8643515001, :

CHy,

|
CH;—C= q
8643515002.

Question Number : 43 Question Id : 8643511663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X ag)im @osndmoalleOqu’ (@ralldlm) £6aned o deniend &0ervosmeaaeal milmy
msamiemod A elEldn)m). A af)(Mm VoMo, @OEMIeMI eIl ol mil@cud
eeamelsgimoal aysoeaemiond, esgy syemiem cnsasgld dlasnnes miladoud dod
0Jalea|siom]. )@@ X ag)m @Ralitl® 66n0eWIHdeIMD ag® ?

Options :

CH;—C=C—CH;,
8643514999.

CH;—( = C—CHy

8643515000. CH; CH;

HC=C—CH,—CH;
8643515001 :

CHy,

|
CH;—C= q
8643515002.



Question Number : 44 Question Id : 8643511664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
R,

Identify the reagent(s) ‘A" and condition(s) for the reaction

Options :

8643515003, “+ = Cl 7 dark, Anhydrous AlC,

A=H(, Zn(l,
8643515004. =

— L TV K
8643515005, >~ Cl s UV light

A=H{ ; Anhydrous AICI,
8643515006. § .

Question Number : 44 Question Id : 8643511664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cl

1
Dl ®s)Om (ludammo msEmiMEimonum® dlewend ‘A’ @paimoalurmow

MO0 2IRIETRR 00U BIROETNS]H6) jdb.
Options :

A=Cl, : somene, Mldmeeal AICI
8643515003. 2 80 3

A=HC], ZnCl,
8643515004.

A=Cl, ; oS (uwelR eeels
8643515005. = ¢ 8 8



A=HA ; dildoze AICL,
8643515006. -

Question Number : 45 Question Id : 8643511665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH, COOH
...H"‘"/ #F R AF = - B
] LT (|
OCH; OCH;
In the above reaction, the reagent “A” is :
Options :
8643515007, A Ha
] _ ;
8643515008 Alkaline KhIIID4r H
8643515009, HCL Zn—Hg
i
8643515010, NaBHy, Hy0

Question Number : 45 Question Id : 8643511665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ CH; . COOH

Oy )

OCH, OCH,
Dl OHISIem cudemmariesal Clewsa) “A” @pem :

Options :

LiAIH,
8643515007.

] _ ;
2643515008, Alkaline KIMInDﬁi, H



8643515009, 1L Zn—Hg

]
8643515010, TvabHy HzO

Question Number : 46 Question Id : 8643511666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CN

(1) CgHsMgBr Ether
== i : .
(1.0 equivalent), dry 5
SN\~ (i) H;0* Major Product
OCH,

The structure of X is :

Options :

T‘)
8643515011, OCH
f-* “ | -.R-RNHE
HHZ“;%&W il WEUPRN o
OCHj;
8643515012.
e -~

8643515013.



8643515014.

Question Number : 46 Question Id : 8643511666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A~ /CT\J (i) CgHsMgBr Ether
E | (1.0 equivalent), dry .
,--’“f\ - (i) H;O* (WM H@alMo
DCH3
X e eelsm :
Options :
‘\T
e il
H(
8643515011. e
r ' | ‘“‘\IHQ
% fee, ™
OCH,4
8643515012.
h‘xh!’_!&h&’/’,—-’
CeHs

8643515013.



8643515014.

Question Number : 47 Question Id : 8643511667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is least basic ?
Options :

(CH;CO),NH
8643515015 R

8643515016, \—2H15)2NH

(CH.CO) NHC,H
8643515017 13 2775

(CoHe )N
8643515018, \ "2 53

Question Number : 47 Question Id : 8643511667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@6 61H0S o dlenmalaflad eerumils m@dtlo (&HHon MIEINI0) dhiOmBH® :
Options :

(CH;CO),NH
8643515015 B s

8643515016, - 285 et

(CH.CO) NHC,H
8643515017, = 3 ) 275

(CoHe N
8643515018, \ "2 15)3



Question Number : 48 Question Id : 8643511668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amnnnl}fsis of AIR}’I halides followed h}-‘ the treatment with NaOH solution can be used to

prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :
Options :

8643515019 to remove basic impurities

8643515020. lo activate I\II—I3 used in the reaction

8643515021, [0 increase the reactivity of alkyl halide

8643515022, '© remove acidic impurities

Question Number : 48 Question Id : 8643511668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@D BT ADIOOEI]HEE @REMIEEMIaelMImy msmrletnato NaOH slo@oia)mowl]
audedfallef eepiadl, emend@dl, estayidl @odlmecd oildamlenoalmmosn. e

llcudemmael@d NaOH galcwoufleaimailon oequeo :
Options :
s643515010, FHOCOIMRES aoellno eflansanod

7 (audemmElcd Halewordlanim NH, 6w seamedlalleaodd
(o CUDEBNBHD DB OTD )
8643515020.

EDREOHOT aDIONRIWIHBINS [ lud@mmevsat] uballalleaodd
8643515021.

@omilalles moellmysmmeas a¥laosanoadmy
8643515022

Question Number : 49 Question Id : 8643511669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?

Options :



8643515023, Melamine formaldehyde resin

8643515004, Urea formaldehyde resin

8643515025, Ci5-poly isoprene

8643515026. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@06 OhIS)EdlaaMaeiadd aaw eodl@my’ dldeflenomiaicoudlaanim ealoglad

ap® ?
Options :

enendlnd candaoddauslesn o eomilad
8643515023,

R643515024. @dl@ eGanodmodaullasancy’ eomslad

8643515025, TUIV-6alogl]l ©ag)cmvolafiad

8643515026, “HIEMOR, Ganod@omdalneaOw HOMIM

Question Number : 50 Question Id : 8643511670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary structure of protein is stabilised by :
Options :

8643515027, van der Waals forces

8643515028, | cptide bond

2643515009, iydrogen bonding

R643515030, Slycosidic bond



Question Number : 50 Question Id : 8643511670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Glatogled emenmidl milsaaldlam qudlemwsamosn M :

Options :

cuomaLd oW enielo
8643515027.

Salaleangl eenioens
8643515028.

aea0WRM esnuoensloud
8643515029.

eeneHnmilole: @pmiol
8643515030. % g

Chemistry Section B

Section Id : 864351112
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351112
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511671 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphate

solution, %10~ 2 moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 51 Question Id : 8643511671 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

35 mL 988 0.15 M eell aemaeisq eoem®ie 20 mL 988 0.12 M ¢@odlke mmdeand
elo@ml@le &iglealdamodd eensoamm eela m@deang @raddlal®owlen @oaal

x107° emod eoldkenlo. (OMISSIA® allDEMTVoEL@IHE] ag)Pim)d. )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511672 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voids in 0.581 g of Ga is % 10%!. (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511672 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (@oegodids momy 70 u) (@IEROORIN 6 oIQIMN® (alRllha00M) HadSTMeMmEd
BghOMy alossiaw)’ ceismalleioem. 0.581 (00 moelwadle s @Red: crRabihales
ag)eno % 102! ep@ldenio. (OMISSIO® allden MO WIH]H)
[N, =6.023 % 102]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643511673 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m= +2is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511673 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=5 m= +2 epemsld, eowlaigs eddmlgesalns agemo @] dlae o
(O®OSSE® al)BEM MVoEUWOHE)ds).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511674 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 25°C, 50 g of iron reacts with HCI to form FeC 12. The evolved hydrogen gas expands
against a constant pressure of 1 bar. The work done by the gas during this expansion is

I

(Round off to the Nearest Integer).
[Given : R=8.314 Jmol ! K~1. Assume, hydrogen is an ideal gas]
[ Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643511674 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C @ 50 (90 oyml FeCl, ajalog|siemomoe] HCl 0@l (olaldedlen emiowd

NN EROWRM (Udmdho, 1 enuod mudleadamslomaleoe] allemilenimm). e

AU1dbom (B MOV H6a0(WRM UImdo 6a1QimMm (alalyeml (udes)
] enwldlénio. (OMIZSIEM aliDeMIVoa WIS .

[R=8.314 ] mol ! K™, enaojwmmd odso ecfwlod omsnseemaom’

@D 86) 1]

[Fe @os @moenodls momd = 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511675 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the

mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511675 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



363 K @oalflaididd A ies elafd nlautd 21 kPa @jo B wjesal 18 kPa @jmoem. 6}
GDOUd A @Jo 2 emOUd B @Jo b)Sle.ajd@mmiensoss)m eowal, sagullecd eowailosemony’
@MIDINIlEe H@on e, @y dgglmmslon ealald alaud kPa @pdlesio.
(o®mogsio™ alldem MosWade)d.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511676 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,50,) has Ka;=1.7x10"2 and Ka,=6.4 x10~ 8, The pH of 0.588 M
H,S0, is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511676 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

mddanyom’ epmilallend (H,SO0;) Ka;=1.7x1072 go Ka,=6.4 %10 % o @mem. 0.588
M H,SO, @jes pH epildlenio. (O@ISSIM® aljBENIVOA@IS )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511677 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A 5.0 m mol dm 3 aqueous solution of Kl has a conductance of 0.55 mS when measured in

a cell of cell constant 1.3 cm ™~ !. The molar conductivity of this solution is

mSm? mol ~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511677 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e eaoerdaRd 1.3 cm ™! pag anl em@ galewowdle) KCI1 o) 5.0 m mol dm ™3
meloeoerlwies aenessmam 0.55 mS @ReemaT) &Haemsemml. 7 aDMlwes cnoadd

dhenedsSlalid] mSm* mol ! @pWdlenic. (OMISSIEM aljBENMIORLNDOHE) ) )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511678 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511678 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

ao@y 80dawd eedmmgleamiales @depm (udemmesln’ allewwaodim A, B
agmlauwies @edabo@qy @Wd(@hao 54.0 alrlg, 18.0 almlg agmileme m@osm.
aloMialeo (aoudemmateadaq|sorm A wieswio B @eswjo MEChofiaaian 6]
olgylmo af)S)an)H®onemesla, A ®OS MIW® B ®@HS MIWm®es 16

MSETRICLIIEMS BN MVDW®o gldlg epddlenio.
(0®OgSOm al)dem Vo) @OSNdb)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511679 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Ti(H,O),]°* absorbs light of wavelength 498 nm during a d —d transition. The octahedral
splitting energy for the above complex is %1071 J. (Round off to the Nearest
Integer). h=6.626 <10 H Jg; c=3X% 108 ms 1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643511679 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Ti(H,0)]**, d—d somdmilad msamjmmailod ealengl 498 nm meoweacdealnas
(alb0Udo @DUTINEMo HAIQIM). E0D Bdhlog IO adhsoadiliawdd migllglotd agymdad]

x10717 | eowildlenio. (6@O3SIA® alldem Mot @oded )
h=6.626x10"3Js; c=3x108 ms~1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643511680 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In Duma’s method of estimation of nitrogen, 0.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511680 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
287 K eljo 758 mm Hg adagadilelje auymomy (al@loailens aemszem agmiglenaumd
msEmemIowd, 0.1840 (Do 888 B0) eodwaile: Mowismo 30 mL eemSeEmd madssl e
Mo HMETILEs OmSROM Caldameme &emiomilauamd e ldleno.

(60351 aljBEMN VoA @IS )

[287 K @ileal @od)od exstbadid =14 mm]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351113
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351113
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643511681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the foot of the perpendicular from point (4, 3, 8) on the line Ll p e § 2_z—-b E

l 3 4

I # 0 is (3, 5, 7), then the shortest distance between the line L; and line

B & zzy 422 Sisequalto:

3 4 5
Options :

S

8643515041.

N|r—-ﬁ.

8643515042.

8643515043.

8643515044, 13

Question Number : 61 Question Id : 8643511681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 2 z u
4, 3, 8) agom enflazgall@d oflay L, : = I - Hg' = 4h,1¢0ag}rm co6UleelsHs)

QUOWHOIM elosnl@leNd alodo (3, 5, 7) agym endllozjuossmeld, L, g coslwien)o

i = _ 273 agm coaienio esuilees 06T 600 :

Options :



Sl=

8643515041.

M||—=.

8643515042.

&=

8643515043.

2

8643515044, 17

Question Number : 62 Question Id : 8643511682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lengths of intercepts on x-axis and y-axis made by the circle x>+ + ax + 2ay + c=0,

(a<0)be -E\E and 2.5, respectively. Then the shortest distance from origin to a tangent to

this circle which is perpendicular to the line x + 2y =0, is equal to :

Options :

8643515045. V10

A

8643515046.

o

8643515047.

2

8643515048.

Question Number : 62 Question Id : 8643511682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x2+y?+ax+2ay+c=0 ag)m QlOTo x- ERHHOTIR0 y- @HHOTIR0 ©lalOalSI@DIM
emdemalgisaies olamoem @Lddhac 242, 245 o). x+ 2y =0 ag)(m coeUIes)
eloenimo @pwonsnimialldd oo’ cymmedlen e} amosicuealealds) mabeonliom
afRUle 06D (iamoen) :

Options :



8643515045, V10
8643515046, V11
8643515047, V7

8643515048. V6

Question Number : 63 Question Id : 8643511683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Leta =i+2j —3kand b=2i -3j+5k. frxa=bxr, r-lai+25+k) =3
3 [ A A s —}2

and r- 12:' F5j u-k) =~ 1, we R, then the value of « 4 ‘r‘ is equal to :

Options :

8643515049. 9

8643515050, 11

8643515051, 13

8643515052. L

Question Number : 63 Question Id : 8643511683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a = z [ 2; “’rL b =2'ix "*r;r | SL agMod)M). r X a=b x 1,

- [ A M ) ._; [ A A Al 42

£+ |ai - 2j +k| =3,r- |2 F5] ak) = 1,aeR, @poemsIdd, o ‘r‘ agMaile
mjelo :

Options :

8643515049. ?



8643515050, 11

8643515051, 12

8643515052. =

Question Number : 64 Question Id : 8643511684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be a real valued function, defined on R—{—1, 1} and given by

|x l| 2
|:f|l| x—1"

f(x) = 3log,

Then in which of the following intervals, function f(x) is increasing ?

Options :
8643515053, (< <) 1-L 1}
1
(-1 U (I3, =) - 1))
8643515054, . /
1
(— o, 51 i~
8643515055,
1
(—1. 51
8643515056,

Question Number : 64 Question Id : 8643511684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R—-{-1,1} @ ddcialenanq|gdleninm fagom dlom aloelyul anesauad

x 1| 2
:fI1| x

fix) = 3log, I T g @ildleniom). ag@lad, f(x) ag)0m aneSaumd of@

enSErUREIRI06M d:)SIMNa ?

Options :

8643515053, (< )10 L1}



1
(=1 U (I3, =) - 1))
8643515054. ; 4
1
( xrgl i—1
8643515055,
1.5
8643515056, “

Question Number : 65 Question Id : 8643511685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 19"2
If the points of intersections of the ellipse 16 | b_z = 1 and the circle x2 +y?=4b, b > 4 lie

on the curve y> =327, then b is equal to :
Options :

8643515057, 2

8643515058. .

8643515059, 10

8643515060, 12

Question Number : 65 Question Id : 8643511685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i_ﬁ | E—z =1 agom didcaiayemalio x2+y2=4b, b > 4 ag)mM AUyEMULo dSImIgI0M

enllmyeedd 1> =322 agm uwoeid cudlelecigymmyensld, b agomae :
Options :

8643515057, 2

8643515058. -



8643515059, 10

8643515060, 12

Question Number : 66 Question Id : 8643511686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the parabola y?=4x with respect to the
line y=x. Then the equation of tangent to C at P(2, 1) is :

Options :
8643515061, * "3V =3

Iy + y=
8643515062, X T¥Y =3

8643515063, ¥ ¥ =1

. My =«
8643515064, ¥ T 2¥ =4

Question Number : 66 Question Id : 8643511686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ =X af)(Mm coeue® @osSlmunomaods y>=4x ag)m alnoceniogalea enflasyalle o
aalemenflosmimoem’ C agym memdnalomewel@, P2, 1) agon enflazalid C dleosl
OMISIOUOWINS TOMOLOBDOET

Options :
8643515061, * T3V =3

o R
8643515062, 2 1Y =3

8643515063, ¥ ¥ =1

et Dy — s
8643515064, X T2V =4

Question Number : 67 Question Id : 8643511687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :

s

86435150065.

| W

8643515066.

8643515067.

86435150068.

Question Number : 67 Question Id : 8643511687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0,1, 2 3,4, 5, 6 ag)mil @osaeRtd Halecwovla), @oensEid EpUdOTlenomm®mio @O
aljdemmos]y HISIM®IROW MoalidkeEl@d 3 OB a0d@lenoaMAIOET HAIE A
af) (N, af)Esldd eIl A @IOs qouwym :

Options :

O |

86435150065.

| W

86435150066.

8643515067. <*

8643515068.

Question Number : 68 Question Id : 8643511688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

d T
If y=y(x) is the solution of the differential equation ay t(tanx) y=sinx, 0=x= %, with

"’
y(0) =0, then ];‘(I] equal to :

Options :

[stues
x2 2,‘ Dg{"'
8643515069.

1
2 log, 2
8643515070.

log 2
8643515071. Be

|
110&2

8643515072.

Question Number : 68 Question Id : 8643511688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy ) _ _.’.r
y(0) =0 @epw FPR (tanx) y=sinx, 0=x= 7 ag)m WlanOMayy@d om0 @6 (R

al@lanonmoem y=y(x) af)M®. ag)sslcd y(g] ®ILNDO Q) :

Options :
1

() s

8643515069.

1
3 log, 2
8643515070.

log 2
8643515071. Be

g
EIQgﬁE

8643515072.



Question Number : 69 Question Id : 8643511689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[cos™1(1- () sin” 11 — fa}) 2
Let « € R be such that the function f(x)= 4 {x} — [z kil

lae, =10

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :
Options :

8643515073, =0

8643515074, NO such « exists

o=

8643515075.

ol

=]
Il

W= | =

8643515076.

Question Number : 69 Question Id : 8643511689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a e R @em. x=0 -@d HemElmyainy @@ afeEaHmoeTy

lcos (1 {I}Z}Sﬁ‘l_l{l x}h iy
f(x) = { {a} — {2’ : ag)M@. @@, (x}=x [x], [x] agma@ x-

o, x=10

EMNSOIRD BHJOMHEMO MILNERI @DW HWDMN alldemavosj@osm. ag)@sld,
Options :
8643515073, ©= 0

a (laicdladaainilg)
8643515074,

0=

8643515075. V2



=]
Il
= | =

8643515076.

Question Number : 70 Question Id : 8643511690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If (x, y, z) be an arbitrary point lying on a plane P which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

' x-11 y—19 z—12 x+y+z
34 2 g 2 2 3 2 ‘
Z X Z X L =
(y—19)* (z—12) (x—11)" (z—12) (x—11)" (y—19) 14(x—11) (y—19) (z-12)
is equal to :
Options :
8643515077. 45

8643515078, 27

8643515079. 0

8643515080,

Question Number : 70 Question Id : 8643511690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(42,0, 0), (0, 42, 0), (0, 0, 42) o)l enflaz sl @de6)S] HSIMGAIOEI™ P af)im deldrmieal

e} apdenlgdl milosauoem (x, v, z) ag)®lad

oy x—11 | y—19 |

1 12 xty+z
y-197 z-12* (-11)% (z-12)> (x-11)* ¢—-19)° 14(x—11) (y—19) (z—12) 2

-

ol loend mlello ®ENDOw®) :
Options :

8643515077. 45



8643515078, 29

8643515079. ’

8643515080,

Question Number : 71 Question Id : 8643511691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A={2, 3, 4,5, ..., 30} and ">’ be an equivalence relation on A X A, defined by
(a, b) = (c, d), if and only if ad=bc. Then the number of ordered pairs which satisfy this

equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643515081.

=

8643515082.

|

8643515083.

8643515084.

Question Number : 71 Question Id : 8643511691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A={2, 3,45, .., 30} ag)mad)mm). ‘=" ag0m®) , ad =bc @oeM@EIG @o(®o (a, b) = (¢, d)

ag)m dildalall afldlenim AxA -afleel ‘edaaieaimdm deelaum’ amem. ag@lad, (4, 3)
af)Mm MoaljoeRosl  @RoWldHdlanimm 7  djicueelmmd dleeladmd a8
(M06EUJOCRISIBBIOS ag)eiRo ag)M@

Options :

8643515081.

=

8643515082.

|

8643515083.



8643515084. B

Question Number : 72 Question Id : 8643511692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
Let P(x)=x?+ bx + ¢ be a quadratic polynomial with real coefficients such that L}P{l'} de=1

and P(x) leaves remainder 5 when it is divided by (x— 2). Then the value of 9(b +¢) is equal

to:

Options :

|

8643515085.

8643515086, 7

8643515087.

15
8643515088.

Question Number : 72 Question Id : 8643511692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
-

LP(x} dx = 1 @® P(x) ag)m® (x—2) 606N anBlen)emiod tllatiso 5 Aoy, alidem
(NJEEMOTMOETRRIEES 0] MEN20odh)\@ enlanialcmoem P(x)=x2+bx +c a)M®. ag)@sl@d,
9(b +c) -wes mielo :

Options :

|

8643515085.

8643515086, 2

8643515087. e

15
8643515088.



Question Number : 73 Question Id : 8643511693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let o be the number of triangles having these points from
different sides as vertices and 5 be the number of quadrilaterals having these points from

different sides as vertices. Then (5 — «) is equal to :
Options :
8643515089, 1173

8643515090, 1890

8643515091, /17

8643515092, /2

Question Number : 73 Question Id : 8643511693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABCD agm almjeasien AB, CD, BC, DA agm] coeuoalsmusBglad @Lnd(dmo
5,7, 6 9 ellmiend qudlale.algimm). « agme alyeymim clwsmsgloal enllosiH @
BDaHHETBR0W (BEHMETBRNS agelio B aglMme) Al@mymim alvsmsslosl enlloz)sacd
B BaHHEBROW 2IM)DEIREBRIOS afENOIDIsT. af)BIG (B - o) ag)n :

Options :

8643515089, 1173

8643515090, 1890

8643515091, /17

8643515092, /2

Question Number : 74 Question Id : 8643511694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the integral

1 el
_ Llﬂ[l]e R

| EII r

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to:
Options :
45 (e +1)
8643515093.

8643515004, €11

8643515095.

9
8643515096.

Question Number : 74 Question Id : 8643511694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 el*]
- lm[lle dx agm O @@ aldlmemlenis. @@I@ [x] agm® x eMeIMD

) oF 1
dhJOMMEMO MILNEDO @R® SWAM aldemmuoaljoem. ag)@lad I @OS @jelo ag)ma :
Options :

45 (e +1)
8643515093.

8643515004, € 11)

45
8643515095.

9 (e—1)
8643515096.

Question Number : 75 Question Id : 8643511695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC
respectively, such that Al =3A2, then the value of m is equal to :

Options :

8643515097, 1
i

8643515098, 12

8643515099. z

8643515100,

Question Number : 75 Question Id : 8643511695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(—1,1), B(3,4),C(2,0) agrmilsoeam 3 enllojentd @amidlen)m). AC, BC ag)oil osudldd

y=mx, m>0 agymm co6l ausmuilenimm enflazjniosm’ @ddae P, Q ajma. A, =3A,
@@ AABC, APQC ag)milal@ies aloqgaldsn’ A;, A, af)0n®), ag)@slad m agmailon
mjelo :

Options :

(=1

8643515097.

8643515098.

8643515099.

8643515100.

Question Number : 76 Question Id : 8643511696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least value of |zl where z is complex number which satisfies the mequalit}f

[flzl +3) (lz[ —1)

\ < J



Options :

2
8643515101. ~

=
8643515102, V2

8643515103. 3

8643515104, S

Question Number : 76 Question Id : 8643511696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Z Q)M GhlogJdhNy (oY) @RoUSdh@leeim

DXF.[flzl |"3|‘J |[|i|| D jog. 2| = log 5 547 + 9il, i = V=1, agym oid-apgidlaiad |2
A . J s

ag)MEO ] 06T MRl ag)mn :

Options :

.
8643515101. ~

S —
8643515102, V2

8643515103. 3

8643515104, S

Question Number : 77 Question Id : 8643511697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sinzx 1 + cos

2y cosZx cos2x|,xeRis:

2y cos2x

The maximum value of f(x)= |1 + sin
. . .
sin’x Cos X sin 2x
Options :

5
8643515105, V



8643515106. 5

8643515107. V7

pr-r-lw'

8643515108.

Question Number : 77 Question Id : 8643511697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sin’x 1 + cos’x cos2x
f(x)=[1 +sin®x  cos®x  cos2x|,x e R agmailed swdmm melo :
.. D 2 "
sin“x cos“x sin 2x
Options :

5
8643515105, V

8643515106. 5

8643515107. V7

|.I'-'-|:._.-J.

8643515108.

Question Number : 78 Question Id : 8643511698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given that the inverse trigonometric functions take principal values only. Then, the number

R . - 4x) gl
of real values of x which safisf}-' sin 1[? | b sin 1(? | = sin” lx is equal o :
. b )
Options :
8643515109, 0

8643515110. .

2
8643515111.



8643515112,

Question Number : 78 Question Id : 8643511698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Allaldl® (@lesoemdl@l aneratmisd plldmilaj@d auoalim @@ED &H6MENIHNIHWISR]

g @rildlenimy, ag@idd  sin”! (%ﬂ b sin” ! (%W = sin” 'x agMa MW@ x -O R
s \ r

aljBem MIENETBRINS ago ag)n :
Options :
8643515109. 0

1
8643515110.

2
8643515111.

8643515112, 2

Question Number : 79 Question Id : 8643511699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: S — S where S=(0, =) be a twice differentiable function such that f(x+ 1) =xf(x). If
g :5 — R be defined as g(x) =log, f(x), then the value of |¢"(5) — ¢"(1)| is equal to :

Options :
205
8643515113, 144

197
8643515114, 144

187

8643515115, 144

8643515116, 1



Question Number : 79 Question Id : 8643511699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S=(0, =) -@ 9&8 f(x+1)=xf(x) @D @62 UM AUlanOtbayyenil@d @RI aneBaHumMOeT)

f:S—=Sagma). g:S — R agmMmm g(x)=log, f(x) agom dfldaallafidlesjme sl

g'(5) —g"(1)| egyrm@ :
Options :
205
8643515113, 144

197
8643515114, 144

187
8643515115, 144

8643515116, 1

Question Number : 80 Question Id : 8643511700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let Cl be the curve obtained by the solution of differential equation 2xy i—y = yz 1‘2, x>0,
' 2xy ﬂ

Let the curve Cz be the solution of 5
r -y

. If both the curves pass through (1, 1), then

the area enclosed by the curves C; and G, is equal to :

Options :

7 gily
8643515117, 4
8643515118, ™ 1

By

2

8643515119.



8643515120, T H1

Question Number : 80 Question Id : 8643511700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2xy % =y — 2%, x>0 ag)m Wlanomdady@® maaEREHOM aldlanooaoem C, agm
CL (@), 2211” > = ﬂ )M UBOWLOS alblanoemosny C, g A@O®Hale (1, 1) -2es
X -y

dhSMN] Galddb)MeaEsIdd Cy, C; ag)0ml Alid@H mldemailenim cowamen aloajanl

ag)ma) :
Options :
= i)
8643515117. °
8643515118, ™ 1
il (85
8643515119, 2
8643515120, T+ 1
Mathematics Section B
Section Id : 864351114
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351114
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643511701 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

For real numbers o, B, v and &, if

2
(x2—-1) 4 t.?m_l[?L l 11
X z L']_'l

2
[_14I 32 4 1_] ta_n_l[x l 11
:

. i . )
i Iﬂge(tm‘_l [1 l lﬂ Hp tﬂﬂ_l[—ﬂl 1]% atmfl[l l 11 HC
A J J

\ v X/ . X . X

where C is an arbitrary constant, then the value of 10(« + By + &) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511701 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o, B, v, & ag)il o) rosydh(Bde)

2
(x2-1) A ’r,an_l[;t | 11

- S S
4 2 =1 1'2 +1
[_x F3x© 4 1_] tan
R
: " . ;
B Iﬂgﬁ[tm‘_l [1 l lﬂ i tﬂ“_l[—m ”L ?:ta_t‘l_l[x l 1} Je
n LRy X J .

(C agmmal @pdenligdl cudlemuoay) agomoanemeslad, 10(a+ By + 5) &M @iello agmM@

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 82 Question Id : 8643511702 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2R + r (in cm) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511702 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AABC -ofl@d AC, AB agym] cumemg)es migo @nddhmo 12 cm, 5 cm ag)(modb)m),.
AABC @}os aldqaal 30 cm? o R, r agyamilal AABC @6s aldlalyemesegio

e W

@ mHdaeHETle @@ic ADEBalo @®@I@ 2R +r (aav.al.) ame

®je)mo @l dleeo.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511703 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x+ 2y —3z + 10=0 measured parallel to

.xl Ey_zl.'ﬁ

3 m 1

i
the line, is \/; , then the value of m| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 83 Question Id : 8643511703 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
x—1 _2-y z+3

B o) coeUies qmuaommemodl (1, -2, 3) agmm enllazyall@d oflod

7
x+2y-3z+10=0 af)im ®ELOTICAHNIE] Bloo \]é @pe Mm@ |m| agmMalen

mjeljo .@DE.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643511704 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s M N M — M A M
Let ¢ be a vector perpendicular to the vectors a =i + j ~kand b =i +2j + k. If

o { i ; I ’ik:l = 8 then the value of E} - ; 4 g] is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643511704 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— A Fat Fat —

a=i+j-k b=i+2]+kagm EQIHSOWDBES LoMIBET HASSD ¢ agme
c - i ? - 3k) =8 epwo®d, < - la x b) agymafle ajelo @D LMY,

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643511705 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf: R — Rand g: R — R be defined as

[x+a, x<0 x+ 1 x <0
X} =4
(CRET

e
. pmpimaw |(x=1)%+b, x=0’

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x € R, thena +b is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511705 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:R—=R, g: R— Ragoml anedaumnd

(x+a, x<0 [ x+1, <0

) = J 3 ry —
D= -1], x=0" 8 |(x-1)2+b, x>0

r

agymilemam midalalqfldenim) @eal@d a, b agoial aljben @owlmvosliddd @en. x

iF

e R-ad (gof) (x) sendlmyaiony’ @peemelad a+b agma @DE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511706 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Consider the statistics of two sels of observations as follows :

Size Mean Variance
Observation [ 10 2 >
Observation 11 n 3 1

7
If the variance of the combined set of these two observations is 9 then the value of n is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511706 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o6 afleowo ddlesememealns aRoFIalasms’ aldlwenlesids.:
aleljajo  @EOME  ecudl@adMy
ol @ldemo I 10 2 2

mildleemno 11 n 3 1

-

eens) afleonio MldlauemeTERIOSW0 BROE: HEMSNIBHEA]S GBI MM %m@s}mmﬂm‘b,

r

n af)(mae @RIy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511707 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n
Let n be a positive integer. Let A = Z{ ljlk ne, [
k=0

If p3A=1 %ﬂ , then n is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643511707 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n af)Mnel aljbem @oWlros@oe.

A= 3t ng (U (@ (@ (2" (2] soem

k=0

— 1 "
63A=1 ﬁm@mmaﬂm‘&, n ag)mea @Re).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511708 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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